PROJECT:							-					
	Repairs, Phase 1	×								*		
	HWY-O-04-15M							DRAYKO CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION		
NET LENGTH OF PROJECT: ISLAND:				CON	TECH	PROME	ETHEUS					
The state of the s	Wahiawa and Ewa			1 2	RING, INC.	The state of the s	RUCTION					
DATE ADVERTISED:	29-May-15		** NOTE: Quantities shown in this column are for in-house use only.							HIGHWAYS DIVISION		
BID OPENED:	19-Jun-15							al al				
COMPLETION TIME:	One Hundred Eighty (180) Working Days											
		**APPROX.							T			
ITEM NO.	ITEM INTERSTATE ROUTE H-2, PID 445	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$9,700.00	LS	\$30,000.00	LS	\$25,000.00	LS	\$20,000.00	
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	
618.0100	Soil Preparation	2,680	SY	\$13.00	\$34,840.00	\$15.00	\$40,200.00	\$50.00	\$134,000.00	\$45.00	\$120,600.00	
619.0100	A'ali'i (Dodonea viscosa, 1 Gal.)	140	EA	\$14.00	\$1,960.00	\$25.00	\$3,500.00	\$20.00	\$2,800.00	\$15.00	\$2,100.00	
619.0200	Kawelu Grass (Eragrostis variabilis, 4" Pot @ 24" O.C. Tri. Spacing)	7,640	EA	\$7.00	\$53,480.00	\$10.00	\$76,400.00	\$10.00	\$76,400.00	\$8.50	\$64,940.00	
641.0100	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	2,680	SY	\$1.50	\$4,020.00	\$7.00	\$18,760.00	\$10.00	\$26,800.00	\$13.00	\$34,840.00	
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	
645.0100	Traffic Control	LS	LS	LS	\$21,000.00	LS	\$30,000.00	LS	\$45,000.00	LS	\$20,000.00	
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	
648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.00	
659.0100	Erosion Control Matting	2,680	SY	\$95.00	\$254,600.00	\$110.00	\$294,800.00	\$175.00	\$469,000.00	\$18.00	\$48,240.00	
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 445) Excluding the Bid Price of this Item)	LS	LS	LS *	\$24,900.00	LS	\$15,000.00	LS *	\$48,870.00	LS	\$21,043.20	
	SUM OF ITEMS FOR INTERSTATE ROUTE H-2, PID 445			*	\$439,900.00		\$548,660.00		\$863,370.00		\$371,763.	
	*Corrected figure						, , , , , ,				Ψοι 1,1 σο	
9					· ·							
40								9				
L										Sheet No. 1 of 7 Sheets		

		TABULATION OF BIDS	· 									
	PROJECT:	Central Oahu Best Management Practices, Eroded Slope Repairs, Phase 1										
	PROJECT NO.: NET LENGTH OF PROJECT:	HWY-O-04-15M									27475 05 1111111	
	ISLAND:	Oahu			CON	TECH	PROME	THEUS	DRA	YKO	A STATE OF THE PARTY OF THE PAR	OF HAWAII RTMENT OF
	DISTRICT:	Wahiawa and Ewa			ENGINEE	and the second s		RUCTION	CONSTRUC		TRANS	PORTATION
	DATE ADVERTISED:	29-May-15									HIGHWAYS DIVISION	
	BID OPENED:	19-Jun-15	** NOTE: Qua	antities shown					*			
	COMPLETION TIME:	One Hundred Eighty (180) Working Days	in this column a		÷			*	9			
			**APPROX.									
	ITEM NO.	ITEM INTERSTATE ROUTE H-2, PID 230	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
											8	
,	209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$13,500.00	LS	\$30,000.00	LS	\$25,000.00	LS	\$30,000.00
	209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
	618.0100	Soil Preparation	7,700	SY	\$13.00	\$100,100.00	\$15.00	\$115,500.00	\$18.00	\$138,600.00	\$45.00	\$346,500.00
	618.0200	Imported Compost, 2" Layer	350	CY	\$100.00	\$35,000.00	\$200.00	\$70,000.00	\$100.00	\$35,000.00	\$45.00	\$15,750.00
	619.0100	Koai'a Tree (Acacia koaia, 15 Gal.)	17	EA	\$350.00	\$5,950.00	\$400.00	\$6,800.00	\$400.00	\$6,800.00	\$400.00	\$6,800.00
	619.0200	Lonomea Tree (Sapindus oahuensis, 15 Gal.)	20	EA	\$325.00	\$6,500.00	\$400.00	\$8,000.00	\$400.00	\$8,000.00	\$450.00	\$9,000.00
	619.0300	A'ali'i (Dodonea viscosa, 1 Gal.)	61	EA	\$14.00	\$854.00	\$25.00	\$1,525.00	\$20.00	\$1,220.00	\$15.00	\$915.00
	619.0400	Kawelu Grass (Eragrostis variabilis, 4" Pot @ 24" O.C. Tri. Spacing)	4,050	EA	\$7.00	\$28,350.00	\$10.00	\$40,500.00	\$10.00	\$40,500.00	\$8.50	\$34,425.00
	641.0100	Hydro-Mulch Seeding	6,280	SY	\$1.50	\$9,420.00	\$7.00	\$43,960.00	\$8.00	\$50,240.00	\$15.00	\$94,200.00
	641.0200	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	1,420	SY	\$1.50	\$2,130.00	\$7.00	\$9,940.00	\$14.00	\$19,880.00	\$13.00	\$18,460.00
	645.0100	Traffic Control	LS	LS	LS	\$10,500.00	LS	\$30,000.00	LS	\$55,000.00	LS	\$20,000.00
		Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
	648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.00
	659.0100	Erosion Control Matting	1,420	SY	\$142.00	\$201,640.00	\$110.00	\$156,200.00	\$175.00	\$248,500.00	\$18.00	\$25,560.00
	699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 230) Excluding the Bid Price of this Item)	LS	LS	LS	\$24,000.00	LS	\$23,000.00	LS *	\$39,554.40	LS	\$38,196.60
		SUM OF ITEMS FOR INTERSTATE ROUTE H-2, PID 230				\$468,344.00		\$570,425.00	×	\$698,794.40		\$674,806.60
	7.49/ W										Shoot No. 2 of 7 9	

Sheet No. 2 of 7 Sheets

PROJECT:	Central Oahu Best Management Practices, Eroded Slope Repairs, Phase 1								general de la company de l		
NET LENGTH OF PROJECT: ISLAND:	HWY-O-04-15M N/A Oahu Wahiawa and Ewa			CONT ENGINEER	and the second s	PROMETHEUS CONSTRUCTION		DRAYKO CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
DATE ADVERTISED:	29-May-15									HIGHWAYS DIVISION	
BID OPENED:	9	in this column a	** NOTE: Quantities shown In this column are for in-house use only.								
COMPLETION TIME:	One Hundred Eighty (180) Working Days	use o	nly.								
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	INTERSTATE ROUTE H-2, PID 241						- E				
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$6,000.00	LS	\$30,000.00	LS	\$10,000.00	LS	\$15,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
618.0100	Soil Preparation	435	SY	\$17.00	\$7,395.00	\$15.00	\$6,525.00	\$75.00	\$32,625.00	\$45.00	\$19,575.00
619.0100	Kawelu Grass (Eragrostis variabilis, 4" Pot @ 24" O.C. Tri. Spacing)	1,240	EA	\$7.00	\$8,680.00	\$10.00	\$12,400.00	\$10.00	\$12,400.00	\$8.50	\$10,540.00
641.0100	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	435	SY	\$2.00	\$870.00	\$7.00	\$3,045.00	\$33.00	\$14,355.00	\$13.00	\$5,655.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
645.0100	Traffic Control	LS	LS	LS	\$5,800.00	LS	\$30,000.00	LS	\$35,000.00	LS	\$20,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.00
659.0100	Erosion Control Matting	435	SY	\$200.00	\$87,000.00	\$110.00	\$47,850.00	\$175.00	\$76,125.00	\$18.00	\$7,830.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 241) Excluding the Bid Price of this Item)	LS	LS	LS *	\$9,068.70	LS	\$6,000.00	LS *	\$12,960.30	LS	\$7,116.00
	SUM OF ITEMS FOR INTERSTATE ROUTE H-2, PID 241			*	\$160,213.70		\$175,820.00	*	\$228,965.30		\$125,716.00
	*Corrected figure										
					4.1.16.11.1.1					Sheet No. 3 of 7	

Sheet No. 3 of 7 Sheets

PROJECT NO.: NET LENGTH OF PROJECT: ISLAND:	Oahu Wahiawa and Ewa			CONT ENGINEER		PROMETHEUS CONSTRUCTION		DRAYKO CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
BID OPENED:	19-Jun-15 One Hundred Eighty (180) Working Days	in this column ar	** NOTE: Quantities shown In this column are for in-house use only.									
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
	INTERSTATE ROUTE H-1, PID 57						9					
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$13,000.00	LS	\$30,000.00	LS	\$20,000.00	LS	\$20,000.00	
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	
618.0100	Soil Preparation	2,500	SY	\$12.00	\$30,000.00	\$15.00	\$37,500.00	\$38.00	\$95,000.00	\$45.00	\$112,500.00	
618.0200	Imported Compost, 2" Layer	30	CY	\$100.00	\$3,000.00	\$200.00	\$6,000.00	\$100.00	\$3,000.00	\$45.00	\$1,350.00	
619.0100	A'ali'i (Dodonea viscosa, 1 Gal.)	111	EA	\$14.00	\$1,554.00	\$25.00	\$2,775.00	\$20.00	\$2,220.00	\$15.00	\$1,665.00	
619.0200	Kawelu Grass (Eragrostis variabilis, 4" Pot @ 24" O.C. Tri. Spacing)	5,620	EA	\$7.00	\$39,340.00	\$10.00	\$56,200.00	\$10.00	\$56,200.00	\$8.50	\$47,770.0	
641.0100	Hydro-Mulch Seeding	530	SY	\$1.50	\$795.00	\$7.00	\$3,710.00	\$30.00	\$15,900.00	\$15.00	\$7,950.0	
641.0200	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	1,970	SY	\$1.50	\$2,955.00	\$7.00	\$13,790.00	\$11.00	\$21,670.00	\$13.00	\$25,610.0	
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.0	
645.0100	Traffic Control	LS	LS	LS	\$15,000.00	LS	\$30,000.00	LS	\$55,000.00	LS	\$20,000.0	
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.0	
648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.0	
659.0100	Erosion Control Matting	1,970	SY	\$140.00	\$275,800.00	\$110.00	\$216,700.00	\$180.00	\$354,600.00	\$18.00	\$35,460.0	
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 57) Excluding the Bid Price of this Item)	LS	LS	LS	\$20,000.00	LS	\$13,000.00	LS *	\$39,245.40	LS	\$18,438.3	
	SUM OF ITEMS FOR INTERSTATE ROUTE H-1, PID 57				\$431,844.00		\$444,675.00	*	\$693,335.40		\$325,743.3	

Sheet No. 4 of 7 Sheets

PROJECT:	Central Oahu Best Management Practices, Eroded Slope Repairs, Phase 1		a								
NET LENGTH OF PROJECT: ISLAND:	HWY-O-04-15M N/A Oahu Wahiawa and Ewa				TECH RING, INC.	PROMETHEUS CONSTRUCTION		DRAYKO CONSTRUCTION, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED:	29-May-15										
BID OPENED:		** NOTE: Quantities shown in this column are for in-house				±					
COMPLETION TIME:	One Hundred Eighty (180) Working Days		use only. **APPROX.		I						
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	INTERSTATE ROUTE H-1, PID 110	_									
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$15,000.00	LS	\$30,000.00	LS	\$15,000.00	LS	\$30,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
618.0100	Soil Preparation	4,210	SY	\$12.00	\$50,520.00	\$15.00	\$63,150.00	\$36.00	\$151,560.00	\$45.00	\$189,450.00
618.0200	Imported Compost, 2" Layer	115	CY	\$100.00	\$11,500.00	\$200.00	\$23,000.00	\$100.00	\$11,500.00	\$45.00	\$5,175.00
619.0100	A'ali'i (Dodonea viscosa, 1 Gal.)	234	EA	\$14.00	\$3,276.00	\$25.00	\$5,850.00	\$20.00	\$4,680.00	\$15.00	\$3,510.00
619.0200	Kawelu Grass (Eragrostis variabilis, 4" Pot @ 24" O.C. Tri. Spacing)	6,215	EA	\$7.00	\$43,505.00	\$10.00	\$62,150.00	\$10.00	\$62,150.00	\$8.50	\$52,827.50
641.0100	Hydro-Mulch Seeding	2,030	SY	\$1.50	\$3,045.00	\$7.00	\$14,210.00	\$12.00	\$24,360.00	\$15.00	\$30,450.00
641.0200	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	2,180	SY	\$1.50	\$3,270.00	\$7.00	\$15,260.00	\$11.00	\$23,980.00	\$13.00	\$28,340.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
645.0100	Traffic Control	LS	LS	LS	\$18,000.00	LS	\$30,000.00	LS	\$55,000.00	LS	\$20,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.00
659.0100	Erosion Control Matting	2,180	SY	\$160.00	\$348,800.00	\$110.00	\$239,800.00	\$175.00	\$381,500.00	\$18.00	\$39,240.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 110) Excluding the Bid Price of this Item)	LS	LS	LS	\$20,000.00	LS	\$16,000.00	LS	\$45,000.00	LS	\$26,339.55
	SUM OF ITEMS FOR INTERSTATE ROUTE H-1, PID 110				552,316.00		539,420.00		810,230.00		\$ 465,332.0
											13

Sheet No. 5 of 7 Sheets

	TABOLATION OF BIBO	T								T	
PROJECT:	Central Oahu Best Management Practices, Eroded Slope Repairs, Phase 1										
PROJECT NO.:	#C 335318-378-6					w ²				STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
NET LENGTH OF PROJECT: ISLAND:					ECH	PROME	THELIC	DΡΔ	YKO		
	Wahiawa and Ewa				RING, INC.	CONSTR			CTION, INC.		
DATE ADVERTISED:	29-May-15									HIGHVVA	HIGHWAYS DIVISION
BID OPENED:	19-Jun-15	** NOTE: Quantities shown in this column are for in-house use only.									
COMPLETION TIME:	One Hundred Eighty (180) Working Days										
ITEM NO.	ITEM	**APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	INTERSTATE ROUTE 750, PID 907 Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$20,000.00	LS	\$30,000.00	LS	\$25,000.00	LS	\$30,000.
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.
618.0100	Soil Preparation	2,290	SY	\$10.00	\$22,900.00	\$15.00	\$34,350.00	\$47.00	\$107,630.00	\$45.00	\$103,050.
618.0200	Imported Compost, 2" Layer	25	CY	\$100.00	\$2,500.00	\$200.00	\$5,000.00	\$100.00	\$2,500.00	\$45.00	\$1,125.
619.0100	Carex (Carex wahuensis, 4" Pot @ 24" O.C. Tri. Spacing)	5,360	EA	\$7.00	\$37,520.00	\$10.00	\$53,600.00	\$12.00	\$64,320.00	\$8.50	\$45,560.
638.0100	Curb , Type 2D	580	LF	\$66.00	\$38,280.00	\$50.00	\$29,000.00	\$45.00	\$26,100.00	\$80.00	\$46,400.
641.0100	Hydro-Mulch Seeding	410	SY	\$1.50	\$615.00	\$7.00	\$2,870.00	\$39.00	\$15,990.00	\$15.00	\$6,150.
641.0200	Hydro-Mulch With Geobinder On Slope (No Grass Seed)	1,880	SY	\$1.50	\$2,820.00	\$7.00	\$13,160.00	\$14.00	\$26,320.00	\$13.00	\$24,440.
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.
645.0100	Traffic Control	LS	LS	LS	\$20,000.00	LS	\$30,000.00	LS	\$55,000.00	LS	\$20,000
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.
648.0100	Field-Posted Drawings	LS	LS	LS	\$400.00	LS	\$5,000.00	LS	\$500.00	LS	\$5,000.
659.0100	Erosion Control Matting	1,880	SY	\$230.00	\$432,400.00	\$110.00	\$206,800.00	\$175.00	\$329,000.00	\$18.00	\$33,840.
681.0100	Curb Inlet Automatic Retractable Screen	1	EA	\$5,500.00	\$5,500.00	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000
681.0200	Maintenance of Curb Inlet Automatic Retractable Screen	9	Month	\$800.00	\$7,200.00	\$1,000.00	\$9,000.00	\$800.00	\$7,200.00	\$300.00	\$2,700
695.0100	Maintenance of Existing Field Offices	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 907) Excluding the Bid Price of this Item)	LS	LS	LS	\$26,000.00	LS	\$16,000.00	LS	\$44,000.00	LS	\$23,475
	SUM OF ITEMS FOR INTERSTATE ROUTE 750, PID 907				\$681,135.00		\$514,780.00		\$777,560.00		\$414,740.

Sheet No. 6 of 7 Sheets

PROJECT NO.: NET LENGTH OF PROJECT: ISLAND: DISTRICT: DATE ADVERTISED: BID OPENED:	Oahu Wahiawa and Ewa 29-May-15	** NOTE: Quantities shown in this column are for inhouse use only.		CONTECH ENGINEERING, INC.		PROMETHEUS CONSTRUCTION		DRAYKO CONSTRUCTION, INC.		DEPAR TRANSF	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Sum of All Items (PID 445, PID 230, PID 241, PID 57, PID 1	10 & PID 907		*	\$2,733,752.70		\$2,793,780.00	*	\$4,072,255.10		
E.											\$2,378,102.05
9	Hawaii Products Preference				\$0.00		\$0.00		\$0.00		\$0.00
	Apprenticeship Agreement Preference				\$136,687.64		\$139,689.00		\$203,612.76	2	\$0.00
	Amount for Comparison of Bids				\$2,597,065.07	······································	\$2,654,091.00		\$3,868,642.35		\$2,378,102.05
	Project Manager: Christine Yamasaki Date: June 22, 2015	e									

Sheet No. 7 of 7 Sheets